MOTOKyﬂbTI/IBaTOpr O€eH3MHOBbIE

Carver T-550R

Cxema 1. C60poYHbIE eanHNLbI U geTanu

101




MOTOKyﬂbTI/IBaTOpr 6eH3UHOBbIE

Carver T-550R

CNMUCOK OETANEMW (cxema 1)

Ne | APTUKYN HAUMEHOBAHUE Ne | APTUKYN HAUMEHOBAHUE
112 801024 laka M8 131 805048 Brynka
113 801093 Bont M8x10 132 802078 Pblvar
114 801147 Bont M5x8 133 805084 MpyxunHa
115 804011 Ponuk HaTs»xHoM 135 804032 MogwmnHuk 608
116 801106 laka M6 136 804012 Ponwk
117 801157 Bont M6x25 137 801112 CTtonopHoe KormbLo
118 801073 BonTt M8x16 138 801005 Bont M8x20
N ‘ APTUIGA HAVIMEHOBARWE 119 801086 Bont M8x35 139 805090 n
pYyXnHa
101 806003 [Buratens B cbope 120 802077 MnactuHa 140 802076 Mepanb
102 805050 LLlectepHsa manas 121 805016 Brynka 141 802075 KpoHLWTenH 3agHnn
103 805091 LkunB 122 801056 CrtonopHoe konbuo 35 143 801095 Bont M8x250
104 801051 Lan6a 123 801069 MopwwmnHuk 6003 144 801003 BonT M8x45
105 801202 Bont 124 804016 LectepHs 3agHero xoga 146 802064 OcHoBaHuve
106 807017 PemeHb 7PJ163 125 801022 [anka M8 147 802072 BcTaBka nesas
107 807016 PemeHb M18 126 805088 MpyxuHa 148 802073 BcTaBka npasas
108 801088 Bont M8x55 127 805089 Brynka 149 808026 Pyuka nepegHsas
109 805049 Brynka 128 801165 BonTt M8x60 150 802069 KpblLika 3agHas
110 802067 Pbivar 129 802068 lMnacTtnHa pgBuratens 151 802053 Kpbllika nepegHas
111 801054 LLlan6a 130 801145 Bont M8x30 152 801001 Bont M6x14




MOTOKyJ'IbTMBaTOpr 6eH3VHoBbIE

Carver T-550R

Cxema 2. C60pOoYHbIE eQUHULBI 1 AeTanu

204
205




MOTOKyﬂbTI/IBaTOpr 6eH3UHOBbIE

Carver T-550R

CMUCOK OETANEMW (cxema 2)

[\ | APTUKYI HAUMMEHOBAHUE Ne | APTUKYN HAUMMEHOBAHUE
210 804082-3 dukcartop pynsa 3 227 801087 Bont M8x40
211 804082-1 ®ukcatop pyns 1 228 801164 Bont M6x14
212 804082-2 ®ukcatop pynsa 2 229 802070 MoakpbInok
213 801091 Bont M8x100 230 802052 Kpbino
214 808011 Tpy6a pyns 231 801021 lavika M5
215 808007 Tpyba pyns 232 801002 Bont M5x12
Ne ‘ APTUKYI HAVMEHOBAHME 216 801027 lanka M10 233 802037 dpesa neBas
217 801051 LLlan6a 234 802038 dpesa npaeas
201 804020 PykosiTka pesnHoBas 218 804005 Koneco 235 801025 lanka M8
202 808008 Pynb 219 801038 Brynka koneca 236 801061 LWarnba
203 801098 Bont M6x40 220 801010 Bont M10x60 237 801012 Bont M10
204 804043 Pobivar cuennenns 221 805045 Ckoba 238 802036 Ocb pessbl
205 801106 [arika M6 222 801039 ®ukcaTop 239 801043 Bont M10x50
206 801015 BonTt M6x60 223 802074 Onopa konec 240 801040 LWarnba
207 804021 Pbivar rasa 224 801047 Bont M10x20 241 807011 Tpoc nepegHero xona
208 801151 [anka M6 225 808027 CoLHuK 242 807013 Tpoc 3agHero xoaa
209 801154 [avika M8 226 801024 lanka 243 807009 Tpoc rasa




MOTOKyJ'IbTMBaTODbI 6eH3VHOBbIE

Carver T-550R

Cxema 3. C60pOoYHbIE eQUHULBI 1 AeTanu

CMUCOK OETANEMN (cxema 3)

Ne | APTUKYN HAUMEHOBAHUE
301 805092 Lkune

302 801139 LWINAnHT 6x40

303 804029 nogwmnHmk 6004 2Z
304 804034 nogwmnHuk 51105RS
305 801163 6ont M5*8 90122134
306 802071 3almTa peMHs

307 804061 LTy ST S
308 804060 nornykopnyc pegykropa nesbin
309 805044 Bar YepBAYHbIN

310 801100 6ont M6*20

31 801023 ravika M6

312 801144 6ont M8*10

313 801203 noawunHuk 30204RS
314 805061 WwTndT

315 805047 BTyrka dpesbl

316 804002 ynnotHutens 25*40*7
317 804035 noaLwwmnHuk 6005RS
318 805042 KOSeco YyepBsiyHOE
319 805046 BTYnKa

320 805043 Ban

321 801204 LwnoHka 6*15




